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1.When the United States joined World War II in 1941, the country found it
snecessary to send soldiers and supplies across the Atlantic Ocean to Europe.
:Many of the ships it used, however, were sunk by German submarines.

+An American shipbuilder named Henry J. Kaiser came up with the idea of
sbuilding huge airplanes that could be used instead of ships to carry the troops
s.and equipment.

»He contacted Howard Hughes, a millionaire and airplane designer, and
ssuggested that they build such a plane together.

Further Questions& Sample Answers

1) Why did the United States struggle sending soldiers and supplies across the Atlantic?

The German submarines would sink many of their ships. @err ocC
2) Who was Howard Hughes?
. . . USE & PRINTING outside of eTOC are
He was a millionaire and airplane designer. strictly PRONIBITE.

oIn 1942, Hughes and Kaiser signed a contract with the U.S. government to
n.develop the Hercules, a giant plane that could take off from and land on the
11.0cean.

12’ They promised that it would be large enough to carry 750 soldiers and their
1zequipment.

1+'The major problem they faced, however, was the shortage of metals caused by
15the war.

16.This meant that the plane had to be built almost entirely of wood.

17.Work started at Hughes’s company in California.

Further Questions& Sample Answers

15.3) How large did Hughes and Kaiser plane for the airplane to be?
It was planned to be large enough to carry 750 soldiers and their equipment.
20.4) What was the largest challenge for building the airplane?
There was a shortage of metal which required that the airplane be built almost
entirely from wood.

23.Although the plane was needed immediately, the work took far longer than
21.expected.

»5.0ne reason was that even the small amount of metal they wanted was difficult
26t0 obtain.

»7.Another was Hughes’s concern with unimportant details.

»s He would, for example, spend days worrying about the design of the plane’s
»9.control panel. Eventually,

s0.Kaiser left the project and Hughes carried on alone.

51.By the time he finished, though, the war was over.

22 The Hercules was three times larger than any airplane that had been built
s3.before.

s Hughes had spent $22 million of the government’s money and $8 million of his
s5.0wn money building it.
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Further Questions& Sample Answers

56.5) What trait did Hughes have that slowed down the production of the airplane?
He would spend a lot of time concerned with unimportant details such as the
design of the control panel.

5.6) How much money was spent on developing the Hercules?
$22 million of the government’s money and $8 million of his own was spent on
the project.

s.Many people doubted that such a huge airplane could fly, and they criticized

.2 Hughes for spending so much public money on it. In 1947, Hughes was called to
13 Washington, D.C., for questioning by the government.

. During the investigation's summer break, however, he returned to California to
sstake the Hercules on a test flight.

1. To everyone’s surprise, the huge plane rose 21 meters above the water and

w7 flew for about 1.6 kilometers.

1s Hughes had shown his critics that the airplane could fly, and the government
w9.ended the investigation.

s0.Although the Hercules never flew again, it became known as an engineering
s.miracle, one that showed that a huge size does not make flying impossible.

Further Questions& Sample Answers

527) What did Howard Hughes do during the investigation on him?
He flew the Hercules proving that it was capable of flight.

5+.8) Why do you think the airplane was never used after the first flight?
The war was over and the airplane no longer had a good use.

*Choose the correct answer from these choices.

56(41) Why did Henry J. Kaiser want to build huge airplanes during World War II?
5721 He hoped to sell them to Howard Hughes’s airline company.

552 Ships carrying men and equipment were often attacked.

598 Such airplanes could be used to sink enemy submarines.

0.4 It was becoming expensive for him to make ships. @eTOC
1(42) What was one difficulty faced by Hughes and Kaiser? e e ORI,

21 There was a shortage of wood in California.

32 They could not get all the metals that they needed.

.3 Hughes’s factory was located far from the Atlantic Ocean.
54 The airplane could not be designed to take off from land.

6.(43) What was one reason the Hercules took so long to build?
s2.1 Kaiser left the project because the war had ended.

.2 It was difficult to find workers because of the war.

0.3 Hughes spent a lot of time thinking about minor details.

704 The government did not provide the money it had promised.
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71.(44) Why did the government end its investigation of Hughes?

21 His airplane never flew again after its first flight across the sea.

3.2 The war finished long before his airplane was ready to be used.

.3 A test flight showed that his airplane was able to fly despite its size.
4 He successfully flew his airplane from California to Washington, D.C.

6(45) Which of the following statements is true?

1 After the war, many people said Hughes had wasted government money.

52 Kaiser and Hughes argued over how much money to spend on the plane.

23 The Hercules project was not completed because Hughes ran out of money.

24 Hughes went to Washington, D.C, to get back the money he had spent on the
sproject.

Review Questions

s2.1) Why did the United States struggle sending soldiers and supplies across the Atlantic?
s3. The German submarines would sink many of their ships.
s1.2) Who was Howard Hughes?
ss. He was a millionaire and airplane designer.
s6.3) How large did Hughes and Kaiser plane for the airplane to be?
s7. It was planned to be large enough to carry 750 soldiers and their equipment.
ss4) What was the largest challenge for building the airplane?
s0. There was a shortage of metal which required that the airplane be built almost
s0.entirely from wood.
91.5) What trait did Hughes have that slowed down the production of the airplane?
9. He would spend a lot of time concerned with unimportant details such as the
9s.design of the control panel.
4.6) How much money was spent on developing the Hercules?
95.$22 million of the government’s money and $8 million of his own was spent on
9. the project.
9..7) What did Howard Hughes do during the investigation on him?
os. He flew the Hercules proving that it was capable of flight.
%.8) Why do you think the airplane was never used after the first flight?
wo. The war was over and the airplane no longer had a good use.
101.
w fig: (41) 2 (42) 2 (43) 3 (44) 3 (45) 1
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1When the United States joined World War 11 in 1941, the country found

. 2 TUF R B0 HA (<°/.uli/v) Wit (250.1/) ~%&E (b)) »T pNIiRES (f:'b\t“b\iﬁ)
1t necessary to send soldiers and supplies across the Atlantic Ocean to

Europe.

LU 5 R (bAIED) ¥z K (J@/uﬁ‘b.‘/ﬁ/u)
»Many of the ships it used, however, were sunk by German submarines.
TEMEAR (25 HAZTL) ~EE (Bb) Lo

sAn American shipbuilder named Henry J. Kaiser came up with the idea of
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building huge airplanes that could be used instead of ships to carry the
(AT 0 (250

troops and equipment.
Hig (MABL) Lotz "R (.U\%J.< i%ufp.:t PRVES) .
+He contacted Howard Hughes, a millionaire and airplane
REHE (ol L) B7E (CWbA) L ~DE57%

designer , and suggested that they build such a plane together.

Further Questions& Sample Answers

#\w (SAL9) T2 FEN (KAL) g (5-oL) ~%iE (bfz) »T

5.1) Why did the United States struggle sending sold1ers and supplies across
KEPE (ognkd) o .
the Atlantic ? 77 AV B TA LWde, KIRE A5~ Tik s 2 1o B Lo,

6.

72) Who was Howard Hughes?  Howard Hughes 14 £ <7 @»@!OC

3 lﬂlmm‘ﬂ“ﬁ
4 (Lrow) L 521 (F0%<) BOHF (R0 5)
oIn 1942, Hughes and Kaiser signed a contract with the U.S. government
R (XoTA) SE23 VA EX (Fx2w) 22 R (029 %) itk (Vv <) 75
wto develop the Hercules,a giant plane that could take off from
i (bo< <) 385 W (o)
nand land on the ocean
12 They promised that it would be large enough to carry 750 soldiers and their
HiE (5%9)
1zequipment.
B (Lo &LD) & #HH (RABA) EiE (brx<®HA) Lz ghid g (5EL)
2The major  problem they faced , however, was the shortage of
@l (FAZL) ~0FER (FAWA) &irole
15. metals caused by  the war.
BIE (W) LTz [EQW. VR SER (MAFA) I

16, This meant that the plane had to be built almost entirely of wood.
17.Work started at Hughes’s company in California.

i [TIolc]
Further Questions& Sample Answers griokc!

15.3) How large did Hughes and Kaiser plane for the airplane to be?
19. Hughes & Kaiser ® RATREI L E < BV )\ 20 ET 0,

20.
i (b xo8A)

21.4) What was the largest challenge for building the airplane?
22. TIMTlrlz T/F I = > TORKRD Pk 1372 AT L dn,

23.

24.
Lixnx Bl (7272) bl ~EVIEDNITELS Do T
25 Although the plane was needed 1mmed1ately, the work took far longer than
T (kE95) LT

6. expected
Bl (W) ~T&Z & (Dxr9d) ;T Linolk

27.0ne reason was that even the small amount of metal they wanted was
B (< EL) 75

ssdifficult to  obtain
B () D FHE (LwH EH) TRV XNk

20 Another was Hughes’s concern with unimportant details. He would,
sofor example, spend days worrying about the design of the plane’s control panel.
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;1. Eventually, Kaiser left the project and Hughes carried on  alone
DR (L&) £T T Ed T (Lewobx9)
22 By the time he finished, though, the war was over

;3 The Hercules was three times larger than any airplane that
S (VEAS<) B

sshad been built before.

(D) Lz
s Hughes had  spent  $22 million of the government’s money and $8 million of

s6.h1s own money building it.

Further Questions& Sample Answers

g (L<Hx9D) g (T2 9)

575) What  trait d1d Hughes have that slowed down the production of the
airplane? Hughes R IR PR B AR BT & DI AT

38.

% (P0iEo) LTRaH () (o
50.6) How much money was spent on developing the Hercules?

40. Hercules (/>F')E1%E X EDL bb\d)“’f#fﬂb MY F L72D,

41.

5 (97203 o7z I (O7eh) L7z
2Many people doubted that such a huge airplane could fly, and they criticized
. ERAER (Z<HAEATY) O )
.z Hughes for spending so much public money on it.
B (LxoLwd) Shic M (CABA)

14In 1947, Hughes was called to Washington, D.C., for questioning by the

4. government.
LyLHR Bk (7poR09)

s, During the investigation's summer break, however, he returned to California to
stake the Hercules on a test flight.

B (BEA) T e (&) ONL () o7z ~E0E T2h) v
18 To everyone’s surprise, the huge plane rose 21 meters above the
e (&) ATE
mwwater and flew for about 1.6 kilometers.
() ol HHE (O x5 BAD)
so. Hughes had shown his critics that the airplane could fly, and the
#® (B) 2T B (&) bl (L) =
s.government ended the investigation.
LAY TR (258 x95&LwD)

s2Although the Hercules never flew again, it became known as an  engineering

W (FEE) o (FLwo) & (L) L
ssmiracle, one  that showed that a huge size does not make flying

KAl (5o o) 72 1
ss.impossible. @ eT OC

Further Questions& Sample Answers FSE PRETIG susde ol sT06 s

55.7) What did Howard Hughes do durlng the investigation on him?

56. Howard Hughes M H Y }qu\(/) !”J L RIFRICE LE LD,

57.

55.8) Why do you think the alrplane was never used after the first flight?
59. IR i/s\'@f’"(f)ﬂkf T&/]J‘F(ﬂ@ﬂmf B EDID T LR Ao T b Fﬁb\i T,

60.
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*Choose the correct answer from these choices.

5.(41) Why did Henry J. Kaiser want to build huge airplanes during World War II?

62. 72¥ Henry J, Kaiser 1%, %;()\ﬁ%ﬁf'l‘k [' ”Efﬂw WA NES D L oT=DTT D,
621 He hoped to sell them to Howard Hughes’s airline company.

wiE (ZHFx) shi-
62 Ships carrying men and equipment were often attacked
~DLH 7 . & (728) .?Lf:&)bz e (Tx) .
58 Such airplanes could be used tosink enemy submarines.

4 It was becoming expensive for him to make ships.

W (ZA7zA)  Hm (br<HiA) Lk

.(42) What was one difficulty ~ faced by Hughes and Kaiser?

68. Hughes & Kaiser (Z X A7 N B L [H T LE LA,
0.1 There was a shortage of wood in California.
702 They could not get all the metals that they needed.

~ZALE (WB) Lz
1.3 Hughes’s factory was located far from the Atlantic Ocean.

24 The airplane could not be designed to take off from land.

(43) What was one reason the Hercules took so long to build?

74. Hercules 73 i3k 723 % Cliﬂ?b\HJJ!"J/J‘/) o /_400&%1 ES(IRG NE VRN
1 Kaiser left the project because the war had ended.

2 It was difficult to find workers because of the war.
. . . HE (Dw:icti) T .
7.8 Hughes spent a lot of time thinking about minor details.
5 (b1=) 25

54 The government did not provide the money it had promised.

10.(44) Why did the government end its investigation of Hughes?
80. M e Hughes DY Fi% 7200 F L1270,
5.1  His airplane never flew again after its first flight across the sea.

22 The war finished long before his airplane was ready to be used.
~ZH b b

3.8 A test flight showed that his airplane was able to fly despite its size.

FE (Z99A) 2%

s24  He successfully flew his airplane from California to Washington, D.C.

K (0F) (i (0) <5 Bk (BALwD) @eTOC
(45) Which of the following statements is true? -
strictly PRONIBITED.

86. UI(DIJHFM\ TIELWE D EF RO S,
HEL (T072) 1ITL=

521 After the war, many people said Hughes had wasted government money.

R (Z272A) LTV

5.2 Kaiser and Hughes argued over how much money to spend on the plane.

. FERL (nAgny) L (o) WE (D) 2L
23 The Hercules project was not completed because Hughes  ran out of

04 Hughes went to Washington, D.C, to get back the money he had spent
s.project.

money.
on the
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Review Questions
B (SALD) T5 FEAN (CALA) W& (5oLl) ~%¥ (b)) oC

92 1) Why did the United States struggle sending soldiers and supplies across the
KEPE (o0 kd) @

o3, Atlantic ?

WAKfE (BATVHA) ik (%A:li‘/)) +% . .
o The German submarines would sink many of their ships.

95.2) Who was Howard Hughes?
os. He was a millionaire and airplane designer.
¢7.3) How large did Hughes and Kaiser plane for the airplane to be?

s [t was planned to be large enough to carry 750 soldiers and their equipment.
B (515 WHA) L 5 (£05<)

90.4) What was the largest challenge for building the airplane?
T (5%<) wE (0=-Lwd) O

wo. There was a shortage of metal which required that the airplane be built

SER (MAFA) I
wi.almost entirely from wood.

HEH ():<f:oJ:9 s (FnE o)
125) What  trait did Hughes have that slowed down the production of the airplane?

Btk (AT LT MA(ZF) ek ~DEIH%
3. He would spend a lot of time concerned with unimportant details such as the
WAE (25 8)

4. design of the control panel.
B (D30ED) LTWaR (b)) 12

105.6) How much money was spent on developing the Hercules?
6. 822 million of the government’s money and $8 million of his own was spent on
107.the project.

WE (5r58) - Ly Lbe

105.7) What did Howard Hughes do during the investigation on him?

FEA (L 92O 5 aRE (o H) T

9. He flew the Hercules  proving  that it was capable of flight.
110.8) Why do you think the airplane was never used after the first flight?

BT~
1. The war was over and the airplane no longer had a good use.
fif 5 (41) 2 (42) 2 (43) 3(44) 3 (45) 1
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